
Topics : Indefinite Integration, Determinant, Vector

MATHEMATICS

DPP  No.  63
Total Marks : 32

Max. Time : 34 min.

Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1, 2 (3 marks, 3 min.) [6, 6]
Multiple choice objective (no negative marking) Q.3, 4 (5 marks, 4 min.) [10, 8]
Subjective Questions (no negative marking) Q.5,6,7,8 (4 marks, 5 min.) [16, 20]
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k̂2ĵ).2x4(î4  . Then values of x are

(A) –
3

2
(B) 

3

1
(C) 

3

2
(D) 2

5. Evaluate the following

(i) 
( )

cos ( )
x e

xe

x

x

 1
2

 dx (ii) 
 2x3x2

1

2  dx

6. Evaluate the following

(i)  











dx

x2cos1

x2sin1
e x2

(ii)  



2/32

1

)x1(

xsinx
 dx

7. Evaluate the following

(i)  


dx)]2x(n)2x(1[(
2x

ex

 (ii)  
dx

1x

x
2

5
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